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COMPUTER SCIENCE / COMPUTER APPLICATION 

ThthT ?7771: ? / UIfq', 200 

Time allowed: Three Hours] [Maximum Marks: 200 

(1) ii— I 31' i21T '' /.Ur* U7// / 9t77377 

dT' q9II(, Wr'?q, 7q,H qj ii32 r//// 

(ii) 311hIIf/ 

(iii) ,W41 # 1P7 5T d1' 31/2g/4d: i 1WT iflq / 

Note: (i) This question paper has two sections 'A' and 'B'. Each section has four 
questions. Attempt any five questions, at least two questions should be from 
each section. 

(ii) All questions carry equal marks. 

(iii) All the parts of same question must be answered together. 

1. (i) 

 - 

Section — 'A' 

4) IblI tq, LIM cb cI).i cili' 1 i R1 I lJ rc1 cbk 

20 fcj,ç  ct'I i 

- 1 2 —3 
2 3 2 (ii)  .dA= A' 

- 3 —3 —4 - 
20 

c1 cb— 

x+2y-3z--4 
2x+3y+2z2 
3x-3y-4z= 11 
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(i) A puzzle is to be solved by three people. Their probabilities of solving it are 

and respectively. What is the probability that the puzzle will be solved by 

these three? 

1 2 —3 

(ii) IfA= 2 3 2 
- 3 —3 —4 

given below: 

x+2y-3z=-4 

2x+3y+2z2 

3x-3y-4z 11 

2. (i) IHI— 

() (6254)8  = ?2 @) (ABCD)16  = ?8  

(TI)  (BA28)16 =?2 () (1O11)1Q =?2  

() (77) = ?16 20 

(ii) 

(') (ciTi) llH 3TtZt (ffkei) ii ' ci;I.i ri 3IThF c1I • 

d1k141 )dL? 

()   uTff I 

(Ii) wfli 1T'4T T%11 l cik TPT 3T 1T I 

('El) 1 ta'i-cil ( i)RTTT' I 

() 31-I 9k 'ctI1k' T3IT lii %u 

C)l4  iTqi fi-i '- T3TI )ciI ' I 20 

(i) Perform the conversion as given below: 

(a) (6254)8  = ?2 (b) (ABCD)16  = 

(c) (BA28)16 ?2 (d) (1O1l)10 ?2  

(e) (7777) = ?16  

(ii) Answer the following in two lines: 

(a) Which one is more accurate and which one is more reliable amongst 
Analog Vs. Digital devices? 

(b) Name any four number systems. 

(c) Differentist between machine language and high level language. 

(d) Name any four peripherals. 

(e) Name any two language using 'Compilers' and two computer languages 
using 'Interpreters' for translation. 
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3. (i) 1f 8-1 Tk k1I T 2's  Icbfti 8085 T1 

r i 20 

(ii) J-Kfi-'MT ii 41 c 20 

(i) Write an 8085 assembly language program that finds the 2's complement of a 
given 8 - bit integer. 

(ii) Draw the circuit diagram of J-K flip-flop and explain its functioriing. 

4. (i) iui i&i 1H$1I 1t C++ [fTtF() T'4 31 ilfht 'iti ? 10 

(ii) Mu '[_3ITrrr    I 10 

0 

(iii) H 'R']ft (Array) 41 1-1i 1T-T IkI 9lH—-1 cbH — 

{ 12,4, 5, 10,1 } 10 

(iv) i-1 - 10 

(A + B) * (C - D) I E * F 

(i) Explain by an example that how to overload [] and () operators in C++. 

(ii) Traverse the given tree using In-order and Post-order traversals. 

(iii) Arrange the given array using bubble sort method, step-by-step in ascending 

order-{ 12,4,5,10,1 } 

(iv) Convert the following expression from infix to postfix notation: 

(A + B) * (C - D) I E * F 
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- 
Section — 'B' 

5. (i) DMAT  w$U I 10 

(ii) 3'IiIcI11 iiii 4) 1k1i #;) *  ifci 11$1I I 10 

(iii) 3'1 f[TT T c4, T çc4 Tt I 10 

(iv) 1IiH (Flynn's) 'i cb1JJ 11'Z..H ici.i  cIJ[IcIUI ctl z11*4I I 10 

(i) Draw the block diagram of DMA and explain the function of its each unit. 

(ii) Explain the working of Arithmetic pipeline with an example. 
(iii) Describe Amdahl's law and state its significance. 
(iv) Explain the Flynn's classification of computer system architecture. 

6. (i) 1M) clk 4) Flc1t —YI1 -ft1k 4) I 1T3tT c441 c 20 

(ii) HIk 31IYcbI c'qj 3T1Th1 ? 1HI4l& cI'1I IWffE i1i ? H!'-tRTWi1T 

{1 dI_T3t(i1IT 1H4-H T cbIIcFH ct. I 20 

(i) With the help of flow-chart, explain the different phases of a Two-pass 
Assembler. 

(ii) What do you mean by a semaphore ? What are the advantages and disadvantages of 
semaphore ? Implement the producer-consumer problem using semaphore. 

7. (i) cb ki*-T R(ABCDE) icE iiiT In  
{ABCDE,B_*ACDE,C—*ABDE} 
i-tt RT  fI 31-Rk1 fii: 20 

(ii) 311— 

() anift iru  
() H1Ri  20 

(i) The relation R(ABCDE) with functional dependencies is given below: 
{ABCDE,B—*ACDE,C--*ABDE} 
Give the lossless decomposition of relation R. 

(ii) Distinguish between: 
(a) Virtual circuits and Datagrams 
(b) Broadcast and Multicast routing 

8. (i) Ikc1 HIc1 31d4 Hi ii1k 1I9Tt I 10 

(ii) uiidl ict c41 1T 1ri (i 4ciit'i) cu  10 

(iii)  _1H$4l: 

To, Subject, Cc, Bcc TU Attach files 10 

(iv) 10 

(i) Mention the utility of spiral model and prototype model in software 
development. 

(ii) Describe the major activities of System Analyst. 
(iii) Explain the following in context of an e-mail: 

To, Subject, Cc, Bcc and Attach files 
(iv) What is the importance of Network layer? Explain. 
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